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Path independence also means 

 

∮ E⃗⋅d l⃗=0

∮ E⃗⋅d l⃗=0→∇×E⃗=0
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Find the approximate electric field 1 cm above a 
2 m x 2 m square uniformly charged flat plate.  
The total plate charge is 10 nC. 

A)
B)
C)
D)
E)
 

E∼4×10−20V /m

E∼14×10−8V /m

E∼140V /m

E∼10×106V /m

E∼1V /m
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Find the approximate electric field 10 m above a 
2 m x 2 m square uniformly charged flat plate.  
The total plate charge is 10 nC. 

A)
B)
C)
D)
E)
 

E∼4×10−20V /m

E∼14×10−8V /m

E∼140V /m

E∼10×106V /m

E∼1V /m
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P=(0,0,z)

R x
y

dl'
B

A
C

D

Find E-field at P from a thin ring (uniform charge density λ)
What do we use for        ? 

E)  None of the arrows represents
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